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Chem 11 Block March 8, 2017
Mg + 2HCl - MgCl, + H,
Flask Magnesium 0.5 M Hydrochloric acid In excess Limiting
Mass (g) Moles Volume Moles "

1 2.43 0-\V0 200 mL 0.1 Mo\ o\

2 1.22 0).0%v| 200 mL Q- ~ —

3 0.61 0 0LY 200 mL £l HO Mg
)

—>Calculate the moles of magnesium for flasks 1-3:
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Chem 11 Block

NZ + 3H2 = 2NH3

March 8, 2017
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The equation “says” that each mole of N that wants to react must have exactly 3 moles of H»

present (no more, no less).

Based on the amounts of reactants mixed, determine the limiting and excess reagent in each of *

the following cases.
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1. Consider the following reaction:
4H20 + 3COz = C3H8 + 502

If we mix 6.0 moles of C3Hg and 20.0 moles of O  (LSLUAY ot \(MU/Q/ /XN -
a. What will be in excess and how much will be unused? , . o
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b. How many grams of water will be produced? ~— U, 00 WY L{ [,5-\’\“6
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2. Consider the following reaction:

6KOH + 3Cl, - KClO5 + S5KCl + 3H,0

, by LOK: % widl Uz
If we mix 100.0g of KOH and 100.0g of Cl»

a. Which one will react completely" ( %ng% _‘ﬂ)_( g\mmv_\gj gwg\gﬂ )
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c. How many grams of KCI
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